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UPCOMING ONLINE BATCHES

06 Oct 2021

08:00 AM to 10:00 AM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

01:00 PM to 03:00 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

03:00 PM to 05:00 PM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

10:30 AM to 12:30 PM

LIVE CLASS NIELIT CARD
(ccc)

BILINGUAL

October 2021

13 Oct 2021

10:30 AM to 12:30 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

05:30 PM to 07:30 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

07:30 PM to 09:30 PM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

BILINGUAL

20 Oct 2021

03:00 PM to 05:00 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

08:00 AM to 10:00 AM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

01:00 PM to 03:00 PM

LIVE CLASS CTET CARD
(CTET)

BILINGUAL

27 Oct 2021

08:00 AM to 10:00 AM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

07:30 PM to 09:30 PM

LIVE PREMIUM GREEN CARD
(BANK-PO & CLERK)

10:30 AM to 12:30 PM

LIVE PREMIUM SILVER CARD
(SSC CGL & CHSL)

BILINGUAL

& www.mahendras.org
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(i) ‘P x Q" means ‘P is brother of Q.
(ii) ‘P — Q’ means ‘P is sister of Q'.
(iii) ‘P + Q’ means ‘P is father of Q.
(iv) ‘P + Q" means ‘P is mother of Q.

Which of the following represents ‘M is nephew of N’ ?
(QN-K+M(b)NxK M(c)N KxM(d)N-K+ M x
T (e) None of these

How is T related to D in the expression:H+T R-D?
(a) Nephew (b) Niece (c) Nephew or Niece (d) Data
inadequate (e) None of these

Which of the following represents F is daughter of W ?
()W R+F(b)WxRxF(c)W+RxF-T(d)W+R-F
+ T (e) None of these
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There are eight persons namely M, N, P, Q, R, S, T and U sitting in a circular table but not
necessarily in same order. All of them face towards the center. They are sitting in such a way
that each person maintains equal distance from immediate neighbors. There are two persons
sitting between M and P. N sits third to the left of U. Only one person sits between N and R.
There are two persons sit between S and Q. U is not an immediate neighbor of R. T sits
immediate left of R. M is immediate neighbor of S. P is not an immediate neighbor of Q. Neither
N nor T sits opposite of M.

375 SAfFT YT M, N, P, Q, R, S, T 3R U T TATHR AT W 43 8 Afdhet STl 161 b sHI A A
ﬁlmmﬁwwaﬁ{a?ram%légamﬂﬁ%ﬁ:mwﬁ?rﬁmmﬁmﬁ
SAT @A I M IR P HF AT AT IS EIN, UF TT A N T WIS N3 RF A
mwwﬁrcrﬂar%lsaﬁtqa;aﬁirawﬁ%r%%l U, R &T fdsredd qsilY AT 81 T dchrer
dor g ggﬁl M, S FT [AFecdT T21HT 81 P, Q FT AFecdA TS AT I AN IRAHNT, M &
Rada |
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There are eight persons namely M, N, P, Q, R, S, T and U sitting in a circular table but not
necessarily in same order. All of them face towards the center. They are sitting in such a way
that each person maintains equal distance from immediate neighbors. There are two persons
sitting between M and P. N sits third to the left of U. Only one person sits between N and R.
There are two persons sit between S and Q. U is not an immediate neighbor of R. T sits

immediate left of R. M is immediate neighbor of S. P is not an immediate neighbor of Q. Neither
N nor T sits opposite of M.
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37. How many persons are sitting between S and R
when counted from left of S? S& a1 & [{lda WX

s 3R RF AT frda afea ¥ £72

A.2 B.3 C.5 D.6 E.None of these

38. Who. sits second to the left of U?
UF dI7 & qEY T 9T FieT doT 87
A.M B.T C.N D.S E.None of these

39. Who sits opposite of P? P & f@aila &l dor 82
A.R B.U C.N D.Q E.None of these

40. Who sits second to the right of Q? Q d e A
a,}rl T 9T HleT o7 872

B.M C.N D.P E.None of these
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Study the following information carefully to answer the given questions:

Seven persons are lives in building which have seven floors. The bottom most floor is
numbered as 1, and the floor above 1 is numbered as 2 and so on till the topmost
floor is numbered as 7. Not more than three persons live above A. B lives
immediately above A. Two person lives between B and C. D lives immediately above
G and lives in even numbered floor. F lives above E. F doesn’t lives in 5th floor.

AT AT 39 AR # (6 d & 99# ard #fSrer &1 9@ el Afdar fraean1 g,
31 & I A ATTT A FEA 28 IR sH @ A TN AT N A 78I AF
S olie @ 3170 safFa adi wa §1 B, A & 81 FW @ar 81 B & A= Y safera W@
813X C. D, G % & I TEdT 8 31X IH FEAT arell AT W IEATE | F, EF IR

IEAT 8 F, 58 9T X A8T @t e
E5-=om

.
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Study the following information carefully
to answer the given questions:

Seven persons are lives in building which
have seven floors. The bottom most floor
is numbered as 1, and the floor above 1 is
numbered as 2 and so on till the topmost
floor is numbered as 7. Not more than
three persons live above A. B lives
immediately above A. Two person lives
between B and C. D lives immediately
above G and lives in even numbered floor.
F lives above E. F doesn’t lives in 5th floor.
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Floor | Person | | 1) How many person lives between F and C?
- - F3R & Aey faar safaa W@ €7

a) One b) Two c) Three d) More than Three e) None

2) What is the position of C with respect to the top of
the floor?

Ao & MY & Tegdl A CHT TUT FIT 87

a) 6th b) 4th c) 3rd d) 5th e) 2nd

I N W A U O
QIOOm|>|m

3) If all the persons are arranged alphabetical order
from top most floor to bottom most floor, then how
many persons floor remains unchanged? gfe ash

giFdal 1 998 I Ao & 999 A= ad
fhaer saiFaal fr #ferer saRafda @t ¥7

a) 1b) 2 c) 3 d) More than three e) None
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Floor | Person | | 4) If F is related to A, similarly E is related to D in the

. = given arrangement, In the same way C is related to ?

Ife AT Tafdd §, 3 9 & aF sugear A
DY T &, s R ¢, ¥ Heafa &2

a) Eb) D c) G d) B e) None of those given as option

= IN WAoo
QIO OoOm|>» m

5) Which of the following is true in the given
arrangement?

dr ¢ g A Afaf@d & @ Fl9 a1 97 872
a) E lives is 4th floor

b) Two persons are lives between B and D

c) Number of person’s lives above D is same as below A
d) Four persons are lives above C

e) Both (a) and (d)
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Y dF A B AT SHTFR IS F I th qav @
AT U W3l 9fFa13:p,Q,R, 5, TR VS
g 31 31 Ol F1 AW SfAor Y 3T g1 yfFa 2 A
A, B, C, D, E IR F 43 8 3R 37 gaft F1 @ 3
#Y I 21 sufaT, & 1S dox A cgaraT 7, v
IiFd A 38 TA+ T T 1 7@ g@il IfFd &
T AGET A 3T L1 S, QF g T A T
QR dST 1 AT AT s AT Q UfFa & sifam B aw et
¢l T AfFa ST AE QA 3RS, EF AR

T W o181 B 3R F & Aeg ey sufera

gl A BIRAN FUFTF IMABR T
43 81 B & [seasn w1 1 7@ 35 safFa
INETAPHFIT T AN FIF R ASTR. RART
fAean TSIl 8. ¢ AF T A gEY TUA W
?%ITW@D#WW%WH@T

|

Twelve people are sitting in two parallel rows
containing six people each such that they are
equidistant from each other.Inrow 1: P, Q, R, S, T
and V are seated and all of them are facing South.
Inrow 2: A, B, C, D, E and F are seated and all of
them are facing North. Therefore, in the given
seating arrangement, each member seated in a
row faces another member of the other row. S sits
third to the right of Q. Either S or Q sits at an
extreme end of the line. The one who faces Q sits
second to the right of E. Two people sit between B
and F. Neither B nor F sits at an extreme end of the
line. The immediate neighbour of B faces the
person who sits third to the left of P. Rand T are
immediate neighbours. C sits second to the left of
A. T does not face the immediate neighbour of D.
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Twelve people are sitting in two parallel rows
containing six people each such that they are
equidistant from each other.Inrow 1: P, Q, R, S, T
and V are seated and all of them are facing South.
Inrow 2: A, B, C, D, E and F are seated and all of
them are facing North. Therefore, in the given
seating arrangement, each member seated in a
row faces another member of the other row. S sits
third to the right of Q. Either S or Q sits at an
extreme end of the line. The one who faces Q sits
second to the right of E. Two people sit between B
and F. Neither B nor F sits at an extreme end of the
line. The immediate neighbour of B faces the
person who sits third to the left of P. Rand T are
immediate neighbours. C sits second to the left of
A. T does not face the immediate neighbour of D.
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!

Rowl. + PV §

rows? (a)S,D(b)Q,A(c)V,C(d)P,D(e)Q, F

R U Who amongst the following sit at the extreme ends of the
B D

:
Row? T CF AE

Who amongst the following faces S? (a) A (b) B(c) C(d) D (e) F

How many persons are seated between V and R? (a) One (b)
Two (c) Three (d) Four (e) None of these

P is related to A in the same way as S is related to B based on
the given arrangement. Which of the following is T related to,
following the same pattern?

(a) C (b) D (c) E (d) F (e) Cannot be determined

Which of the following is true regarding T? (a) F faces T. (b) V is
an immediate neighbour of T. (c) F faces the one who is second
to the right of T. (d) T sits at one of the extreme ends of the
line. (e) Q sits second to the right of T
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EG4BH T5 @ KSEDN £QZ5W3IC19*1B2S6

How many such consonants are there in the above sequence which are immediately preceded
by a symbol and immediately followed by a digit ?

g@ww#@ﬁmawm%mmmwmsﬁtmmwm
?

(a) One (b) Two (c) None (d) Three (e) More than three.

What should come in place of the question mark (?) in the following sequence ?
4H@, KDQ, ?, 9IS
(a) ZW1 (b) NQS (c) @8N (d) SW9 (e) None of these
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EG4BH 7T5a@a KSEDN £QZ5W3IC19*1B2S6

Which of the following is exactly in the midway between the ninth from left end and
the seventh from right end ?
ﬁmﬁf@aﬁ#aﬁamaﬂ?@aﬁaﬁ?mm?#maﬁﬂ;maﬁ#%?
(a) Q(b) Z (c) S (d) W (e) None of these

If the first fifteen elements are written in the reverse order then which of the following
will be seventh to the left of twelfth element from right end ?

aﬁqﬁwa—qﬁaﬁs—&wﬁﬁmm%aﬁmﬁﬁaﬁ#aﬁam
g B ¥ dRed dcd & I ¥ HIdd TATT 9 gen?
(a) 7 (b) @ (c) 5 (d) K (e) None of these
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Ten students— A, B, C, D, E, F, G, H, | and J are sitting in a row
facing West.

l. B and F are not sitting on either of the edges.

Il. G is sitting to the left of D and H is sitting to the right of J.
lll. There are four persons between E and A.

IV. | is to the North of B and F is to the South of D.

V. Jis in between A and D and G is in between E and F.

VI. There are two persons between H and C.

G| BT- A, B, C, D, E, F, G, H, | 3T ) U ufda & qiRas Y i 7w
FIH A B

. B 3R F AT PRI WX AT a5 &

II.G, D H I da1¢ 3 H, J & et T daT B

. E 3R A F AT IR gfFa &

IV.1, B 3aTH § IF, DHcfAur A g1
V.J,ARDFHTAZIRG, EIFFNT AL

VI. H 3R cF AeT reafaa €
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Who is sitting at the seventh place counting from left?
(a) H (b) C (c) J (d) Either H or C (e) None of these

Who among the following is definitely sitting at one of the
ends? (a) C (b) H (c) E (d) Cannot be determined (e) None
of these

Who are immediate neighbours of I1? (a) BC (b) BH (c) AH
(d) Cannot be determined (e) None of these

Who is sitting second left of D? (a) G (b) F (c) E (d) J (e)
None of these

If G and A interchange their positions, then who become
the immediate neighbours of E? (a) G and F (b) Only F (b)
Only A (d) J and H (e) None of these
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Point P is 8m west of point G. Point G is 16m east of point T. Point H is east of point E. Point E is 5m northwest
of point L. Point A is 12m south of point F and point P is midpoint between them. Point L is 8m south of point S.
Point H is midpoint between point L and S. Point T is 14m south of point E. ﬁg P, ﬁg G& 8HY gREH A %’I
f9g 6, fag 7% 167 q@ & 81 o H, g E&F g & 81 g £, g L F 5 3T-aiRasr & 31 g A,
fog F& 1240 gf@tor 77 § 3k g p3ad o ey fag 31 fg L, fag s & 8+ gfavor & 31 &g H,
fag L3R s& 7ew & 71 g 1,19g e&F 147 gf@or 7 8

. If Point B is west of point A and south of point S, then what is the
distance between point A and point B? (a) 13m (b) 7m (c) 6m (d) 5m
(e) None of these

In which direction point L is with respect to point F? (a) South (b)
South-east (c) North-east (d) East (e) None of these

What is the distance between point E and point H? (a) 7m (b) 3m
(c) 4m (d) 5m (e) None of these



http://www.mahendras.org/



http://www.mahendras.org/

